Unit (11)

(VOCABULARY)
From a, b, c and d choose the correct answer:
1-Smokingisa ....ccccoceveveeeeeenn, to your health so you should give it up.
a- data b- emission
c- detriment d- habitation
2- We should .........cccoeevennnnnee. the elderly and show them respect

and compassion.
a- revere b- alert
C- wane d- orbit
3- Discrimination based on race, gender, or religion is ...........ccc..ccceeen...

and unacceptable.

a- intrepid b- sentient
C- superb d- abhorrent
4- The newspaper, Or MOre ...........ccceeeeeenn... the editor, was taken to court

for publishing the photographs.

a- customarily b- specifically
c- roughly d- exceptionally
5- The scholarship offered her the .......................... to attend college

and pursue her dreams.
a- opportunity b- trainers

C- universe d- frontier



6- Parents should ......................... their children's internet usage to

ensure their safety online.

a- orbit b- execute
c- monitor d- wane
/- The house hasa...................... staircase made from oak and marble.
a- abhorrent b- sentient
c- intrepid d- superb
8- The projectis ........ccceueeennne.. halfway completed, with still a lot of

work to be done.

a- roughly b- exceptionally
c- specifically d- customarily
9- Carbon dioxide ..........ccccceeeeenee from burning fossil fuels contribute

to climate change.
a- opportunity b- universe
Cc- emission d- frontier
10- The CEO outlined the company's strategy and delegated tasks to
theteamto ....ccooevennnininnnnnnn. the plan efficiently.
a- execute b- alert

c- revolutionize d- wane



Fill in the spaces with the suitable word from the list:

( mission - on board - orbit - economical - exceptionally - alerted )

11- The airline offers more economical fares for flights booked in advance.

12- In the film, he plays a spy whose mission is to confirm the verity
of a secret military document.

13- The doctor alerted the patient to potential side effects of the
medication.

14- The engineer's design was exceptionally innovative.

15- We need to make sure that all safety protocols are followed before

allowing passengers on board the aircraft.

Fill in the spaces with the suitable word from the list:

( GPS - abhorrent - revolutionized - conducive - revolves - concept )

16- The quiet atmosphere of the library is conducive to studying.

17- The concept of democracy emphasizes the importance
of citizen participation in government decision-making.

18- The invention of the smartphone revolutionized the way

people communicate and access information.

19- The GPS navigation system in the car provides real-time
traffic updates to help avoid congestion.

20- The moon revolves around the Earth, completing one

orbit approximately every 27.3 days.



Fill in the spaces with the suitable word from the list:

( habitation - roughly - wane - sentient - frontier - durable - orbits )
21-Space exploration represents the next frontier for humanity,

with missions to Mars and beyond.
22- The moon's brightness began to wane as it moved further

from the Earth.
23- The astronauts conducted experiments aboard the space station

to study the effects of long-term habitation in space.

24- The moon orbits the Earth approximately once every 27.3 days.
25- The durable plastic containers are ideal for storing food and

keeping it fresh in the refrigerator.

Fill in the spaces with the suitable word from the list:

( universe - orbit - astronomical - execute - roughly - abnormal )
26- The journey from New York to Los Angeles takes roughly six
hours by plane.
27- Astronomers use powerful telescopes to study the universe.

28- The abnormal behavior of the wild animal suggested it might

be injured or sick.
29- The CEO decided to execute the company's new marketing
strategy to increase sales.

30- Astronomers announced an astronomical discovery of

a massive black hole at the center of our galaxy.



(GRAMMAR)

From a, b, ¢ and d choose the correct answer:

1-Anexam may .........c......... by our English teacher today.
a- give b- be given
C- gave d- been given

2- That necklace is no longer in the shop window so it must .....................

a- have been sold b- sold
c- be selling d- sells
3- Employees must ............. on the last day of the month.
a- paying b- been paid
c- be paid d- pays
4- The flights should ....................... because of the fog yesterday.
a- be cancelled b- cancelling
c- cancels d- have been cancelled
5- The project should .......................... by the end of the week.
a- complete b- be completed
c- be completing d- completed
6- Neither cats ............... dogs are allowed in the restaurant.
a- or b- and
c- nor d- both
7- | like my coffee ............... black or with cream.
a- both b- either

c- neither d- also



8- Either Mary or her parents ............... going to pay the bill.

a- is b- are
c-am d- was
9- Neither the teacher nor the students .......... in the classroom yesterday.
a- were b- is
c- are d- was
10- Neither John nor Sarah .................. the meeting yesterday.
a- was b- are
c-is d- were

From a, b and ¢ choose the correct answer as required:

11- They will present new ideas at the conference tonight.
(Change into passive)
a- New ideas will be presented at the conference tonight.
b- New ideas will been presented at the conference tonight.

c- New ideas will being presented at the conference tonight.

12- Drivers must obey the traffic rules. (Change into passive)
a- The traffic rules must be obeyed by drivers.
b- The traffic rules must being obeyed by drivers.

c- The traffic rules must obey by drivers.



13- The secretary can give some information about the job.
(Change into passive)
a- Some information can give about the job by the secretary.
b- Some information can been given about the job by the secretary.

c- Some information can be given about the job by the secretary.

14- They must have taken this picture in 1970.  (Change into passive)
a- This picture must have being taken in 1970.
b- This picture must have been taken in 1970.

c- This picture must have be taken in 1970.

15- The doctor will help you. The nurse will help you.

(Use: either...or)
a- The doctor either will help you or the nurse will help you.
b- Either the doctor or the nurse will help you.

c- Either the doctor will help you the nurse or will help you.

16- The store owner isn’t here today. The store manager isn’t here today.
(Use: neither.....nor)
a- Neither the store owner nor the store manager are here today.
b- Neither the store owner nor the store manager isn't here today.

c- Neither the store owner nor the store manager is here today.



